706514

No. of Printed Pages : 15 | . | 6233

udley eragr
Register Number

\l\llllﬂ\lﬁlllﬂllllﬂﬂﬂlﬂIII\I!HII!ﬂ\IUI!HUII!IHI\NINIII\ PART -II

Ceauufweo/ CHEMISTRY

(501 wHmb <yhfle> ey / Tamil & English Versions)

Gpirid : 3 Wanfl ] [ Qorsg wHIQuaTEET : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
oifleyenr: (1) Sioarsg arsseEnn sflurs u:ﬁmrre%] 2 GTETSI 6T GITLIS 6N 6T

sflurisgs Qarerereynd. SiFsiudeledr  Gapud e
7 Siemm&Hasrat imerflid a_l_smq_turra;g Gz flelssea.
(2 Bob dwgy smLY ovbl@omear bEHCW TYFIUSHGLD,
' i 5CsMg HeusH@D LwemuBhSs Coua@ibd. L BisaT @Jml;reugg)@
Queéled LweTIHSS6e|Lb.

Histructions : - (1) Check the question paper for fairness of prinﬁng If there is any lack of

o fairness, inform the Hall Supervisor unmed1ately
(2)  Use Black or Blue ink to write and underline and pencil to draw diagrams.

GOl : @:QSGU)G)JU_II'I'GUT @Lsfe L b emcmu(r_r)gj &mmurr@a;mew T(PHIS.

Note : Draw didgrams and write equations wherever necessary.
L@S! - 1/ PART - I ‘
GBIy : () Siemenss) 6l GuTITd: &5 (@ 51D eflenL_werfléga,Lb. : © 30x1=30
' (i) sfwsrer aﬁ]sm_emu_lgs Cers0s058 oT(Hsis. |
Note : ()  Answer all‘the quiestions. ,
(i) Choose and write the correct answer.

1. aip-Crr Cerwiige L srrhisdr wearaflaaula <jflownrs

eflenerfSpg). ' _

(<=1) erflenewrw (<) rrflenemri

(&) (=t) wogd (=b) () epaflenemru

nitro compounds behave as acids in presence of strong alkali.
(a) Primary - (b) Secondary
() (a)and (b) (d) Tertiary
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el ergar@ulguier @efredliLramms LweTLEL Gaiob

(1) 855168 QuenSen () wHETER FECHen

(@) B8s5r&8 185Cz6m () wesnES Quenden
is used as a refrigerant in refrigerator.

(@) Methoxy benzene . (b) Ethoxy ethane

(c) Methoxy methane - . (d) Ethoxy benzene

Qs FweTum g, ‘n’ eraTLIg)

(31) Curasafier TremeaEams (c"zb) Sieusm G erewr
(@) GoeuTeRTL LD 6TeHT ) erélQpmefliden Lilg.
In the Bragg's equahon for dlffrachon of X—rays, n’ represents :

(a) The number of moles DT () B Avogadro number )
() A quantum number : (d) Order of reflection

Gra)am_r;rmﬂem L&@T&'rGIDLDGS)U_IBS a;emqﬂ;_r;g,eurr

(1) g,rrm&m () 4-9rEGer (@) @G&mm‘ () menevieen
The charge of an electron i is determmed by - _ - .
(a) Thomson (b) de—Broghe (¢ Milliken  (d) Einstein

ersdadlen Slenersame Pl, 2 e @S]mmunﬂ;r,gl QsTHLILG : ‘.

" (<=1) ICH,CH,I (<) CH2 CI—I2 : (@) CH,=CHI () ICH=¢;HI
The reaction of ethylene glycol Wlth PI3 g1¥les ’

(a) ICH,CH,I () CH,=CH, () CH,=CHI _ (d) ICH=CHI

orpgamaRseien Qurgierar géﬁgee&bm Blevaw :
(1) +2 (@) +1 (@) +3 () +4
The most common oxidation state of Lanthénides is :

@ +2 ® +1 (©). +3 d) +4

.



10.

| o 3 6233

Spsaar_aupmier erHd SG9H 2 ereng?

(1) GuLTiT&a (<) saflo erammlanTi
(@) sreur eranr@enT () QuierL(®

Which of the following contains a lipid ? ‘

(a) starch (b) mineral oil

(c) edibleoil ~ (d) peptide

@@ Qatub@srdr sofow elmania T, LDfDQij‘TZ. Qaitiufloasafs

soflene rledlser K, womid K, erefle Qmuu;ﬂmm T, <pang T; eveu el
2flswrs QmEsn Gurg (T, > T,) :
(@) K <K (<) K1,>/K2 (@) Kl K  (m K1¢K2

An equilibrium reaction is endothermic if K; and K, are the equlhbrlum constants at
T; and T, temperatures respectlvely and if T2 is greater than T, then :

@ K <K, KK, © K=K @ K=K,
Grezm_(‘ényrrlﬁl &U_IFFQ_U_GUT ﬁa;@m Q&u_la)a;m _f_;;_;__ Q&uv_leb‘a;dt ‘
eIl @& e ' o
(<=1) Gleuuu;f,]smv LomprT - (=) Qmuumwmprr ’
(@) gmaﬂ&m& - () g,e&réﬂ#méuﬁﬁ)m{ |

A process accompanied by increase m entropy tends to be ,

(a) isothermal | _ (b) | adlabatlc _ |

(0 spontaneous _ o (d) non-spontaneous

' I

[Ni(CN>4]2— g,qu_mvﬂufﬂm éqs’mouq -

(1) prengpél (<) sgirgend
(@) psCaramd | (m) aemepd
The geometry of [Ni(CN),J2~ is :

(@) Tetrahedral ' (b) Square planar
(c) Triangular | . (d) Octahedral

[ H®BLys / Tun over -
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11. B-giser QupLi] GTETLISME &LOLD.
(<) @@ UGrmiLren aiflsfiiy () @ Hurmer @iy
(@) (1) wopid (=) (F) eTps LTHDEPL Gdme
Loss of a B-particle is equivalent to :
(a) Increase of one proton only (b) Decrease of one neutron only
(c) Both (a) and (b) (d) No change

12. @flevanru e QFudUEL 69 :

(1) eTe&LTes Heurdyent (<) emilsmrd

- (®) onl sbleo> (rF) safl 2 miliny
Primary amine acts as : |
(a) electrophile - (by Lewis base
(c) Lewis acid ' (d) free radical

13. anLergdler wHseny SAengliLsnE 2 a6 sranfl :

(1) HI (=) KMnO, (@) NaOH (7)) HO
Diethyl ether can be decomposed with : ‘ | _
() HI (p) KMnO, (c) © NaOH (d) H,0

14. &5CymHed GERCETHD, oo If&GLTEHD ameanmsaslitl g mLLg)?

(<) CG-G () G-G (@) &G () C—Cq
Sucrose contains glucose and fructose linked by : -
@ C-G b) C;-C © C-C (d) C-Cq

15, wwalunieb eyppddr aifcs -

(@) s<p<d<f (a)s>p>d>f
(@) s>d>p>f o (rF) ‘s<d<p'<f‘
The order of ionization energy : A |

@ s<p<d<f (b) s>p>d>f
() s>d>p>f - (D) s<d<p<f
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16. (i FemusHed Lwem@’ Seoeum o UL
(<=1) AgCl (<) AgBr  (8) AgNO; (/) Agl -
Which silver salt is used in Hair dye ?
(a) AgCl (b) AgBr (c) AgNO, (d) Agl
17. Qemau@md erps Qg sflwmerg?
H= E ] +
(o) PH= 15 | (<) pH=log;o[H™]
+ H=1 __1_
(@) 10g10PH=[H ] ) (n—) pi= Oglo [H+]
'Which one of the following relationship is correct ?
g 1 .
(@ PU7 H] | (b) pH=log;o[H™]
- H =logy—— -
() logyepH=[H"] (d) pH=10gq [H']
18. oamidler 2 amasefd erlQurmerms LweTIGLD Saflobd
> (<21) U-236 (<) Pu-238 (@) U-235 (%) Pu-235
element is used as fuel in nuclear power plant.
(@) U-236 (b) Pu-238 (c) U-235 (d) Pu-235
19. Gapui apepuded sl s SiwGuoraiureess Gup CeemaiL(HD WSS :
(<1) 300 - 500 atm | (<24) 500 - 700 atm |
(@) 700 - 1200 atm (FF) 100 - 300 atm
The pressure required to get maximum yield of Ammonia by Haber’s process :
(@) 300 - 500 atm (b) 500 - 700 atm
(c) 700 - 1200 atm (d) 100 - 300 atm
B
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20.

2 erefliLyeimg e sHameuwjenLul GEmoLD :
) P,0;- (=) P05 (&) HPO, (F) H3PO,

- The compound with garlic taste is :

21.

22.

(a) P,0, (b P,0s (© HPO, (4 H,PO,

LTevenan sranflen (Bi&@n <leib.

(1) S8y bl (<) Quetgmuis oflewid
(@) urmié <flen - (F) 58Tl ojflevid
The acid which reduces Tollen’s reagent :

(a) acetic acid . (b) benzoic acid

() formic acid ~(d) oxalic.acid

@@ fevanullen AG erdlirs@Hevws CuhHmbsTeD, <2iHd FHU@L Lorrmg)u) :

(1) genaflFanswimerng (=) senafllgmawppg
(@) \Ser gamenoujeLwg (FF) 1B6T semenLwpHnE)
If AG for a reaction is negative, the change is :

(a) spontaneous » , (b) non-spontaneous

(¢) * reversible ' (@) equilibrium
q v

23.

CH3N§ &3 el CgHzNZ @mmﬂrremgu DASDETET SMTETLD ':

- (=) 2L afllenseys seento. (<) Qarerefl elenaray
(&) gram o> efleveray () (éci,) wm@m (@)
C6H5N2 is stabler than C’H3N2 because of : |
(a) resonance (b) steric effect
() inductive effect ., . - . (d) - ~both (b) and (c)r.x . Y

24.

QUMUEHET LTI a;mquu@g;cﬁ]arr g,em;m.o TSI Qun@g,g] mrrga.lg‘,]evma)?

(<) Gastiflea () ewss

(@) aumysseflen g,s&remm _ ; - (F) uplys seumid Qun@aﬂm ﬁlmm
The magnitude of gaseous adsorption does not depend upon :

(a) temperature ' -~ (b) pressure

(c) nature of the gas - (d) amount of the adsorbent
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26.

27.

28.
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QY sardls llogms é{US\éDLb sobg KMnO, e ,salnCarhmid

aflepamudied : elevanGeous wmpHHlwrs Qeudu@Hng!.
(<21) KMnO, (=) (COOH), (@) MnSO, () K5O,
is the catalyst in the oxidation of oxalic acid with acidified KMnO,.

(@) KMnO, () . (COOH), € MnSO,  (d) KSO,

crevL 6oy Bir$s HCl gpenaflancudlay ﬁ}lyrrg)U@g,g,so aﬁ]mmuﬁ]m aﬁ]mm@uma; :
(<) @ramLmb euens elenen (<=, ggglu_l auens edlanan

(@) Gumrell wpze auena eflaar () s cuama ellenar

Hydrolysis éf an ester by dilute HCl is an exa.mple‘-for :

(@) second order reaction ,i (b)  zero order reaction

(c) pseudo first order reaction (d) - first order reaction -

£g_>a;a;mr|_mg)gjm T ng,(q‘,]m Qmamﬁ’é]um éqCSu.lrrsm_@LGoT G&rrg)gﬂ
gpeflanemm 19l erL b dsaDTmE CSTHESED?

(<1) HCHO (=) CHyCHO . (@) CHyCOCH; - (m)-co,

From which of the folowing, tertlary butyl alcohol is obtained, by the action of Methyl
magnesium iodide ?. Y

(a) HCHO B CH3CHO @ »QHE,JCQSZI;I@ 15(1_(4‘) co‘2 -

[PEETS E

ol

a“@mgéﬁd'f&@&asrﬁm e e elemetelp@s STreRTLd S

(@) Bersaw Goiusred () gefiefspe
@) gofl efigmzd  (v) el clwsd

The Tyndall’s effect associated with colloidal particle is due to :
(a) presence of charge 4 (b) scattering of hght
(c) absorption of light .‘ (d) reflection of light

[ Hpuys / Tumn S_V:er
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T 29.

(a) paired electrons (b) unpaired electrons
() lone pair of electrons (d) (a) and (c)
~ —313.6 o :
30. E,= —z E,=—34.84 erafled n & iy
(<=t) 4 ()3 (@) 2 () 1
3136 , - -
E, = ———, if the value of E_ = —34.84 to which value ‘n’ corresponds ?
IR ®) 3 (© 2 @ 1 =
L@ - I / PART - 11
GOy : () gCsaud Lemenhgl aﬁ]mrré;és@éS@ aflenL_wief). . 15x3=45
(i) @euGleurm aﬁ]emrreﬁlg)@m QETTM] DADWG @l}ﬂﬂﬂ@ mrrasa?lu_lrma;aﬂco
ellenLwrafl.
Note : (i) Answer any fifteen questions. | ,
(i)  Each answer should be in(oijle or two Sér}tér}ges. | . 4
K
31. He, gem 2 (heurseflerenav? .
Why He, is not formed ?.
32. y&flgmar el JuL@pflar oifs &uaﬂmrra;@m <2, DMEnE Qum@jmm@ @'Gar?

8 .

Gefbhiger aamss Gasneovrq@a;@m CQurepg Bpweder <jwelsamar
&@mrra;@aﬂmmm

) QULlen eTavsL_Frensar () sallss Gra)é;l'_r,rrrcﬁm'rr

_(@) saflss Gy crasLymanser () (1) wHmbd (E)

Formation of coloured ions is possible when compound contains :

The ionisation energy of fluorine is greater than oxygen Why ?



33.

34.

35.

36.

37.

38.

39.

40.

9 ' 6233

ureviien @ Spps @OSGL sra eréamians HmA.
Show that phosphine is a very good reducing agent.

QuITL_Lmely Lig &MLD ereueumm) §mrnﬂé;a;£nu®£;pg?

How is Potash Alum prepared ?

@p&CrTD 2 Canss smmeuien s56is @ew WHOID LIWET wrg?”

What is the percentage composition and use of Nichrome ?

<Guraflur 5_561)‘;'5;_5 Aeveuit apl Gyl urmfé Sifleggier Lflub afevanan
EMS. '

Give the reaction of ammoniacal silver nitrate with Formic acid.

Gemeumid oL ah elamearsaer Liss Cewis :

@) N (p, &) e @) 1NaZ (@, B) oo (iii) 15K (p, d) oo

Complete the following nuclear reactions :

@) N (D, @) e @) 1,NaZ (@, B) woornn (i) 19K (P, ) o

2 Garsd Gemmuid @mgourr@ Gmrrg)rra) créman? a@g,gw;asrm@ g,@as

What is metal def1c1ency defect ? Give an example.

CHCl, et Gamfflana 61.5°C arafled oig) pmeﬂmmqg, g,mcmwuﬁ\ao qu.mou@m
Gurgl eigen Gomreomt éﬁbaﬁlu_lrrg,so Qmuug,emg,a; SaTES (. -

. The boiling point of CHCl, is 61.5°C. Calculate the molar heat of vapourisation of the

liquid, assuming ideal behaviour.

a@eurrg,su gobleney mwgﬂeﬂa;@m flens mrr@aﬂa;@m 2 @rem QSmLiTL] eremen?

) Gr(b\g,g,w; s;rn_® &(H.

What is the relationship between formation equilibrium constant and dlssoc1at10n
constant ? Give one example.

[ $mLiLs / Tumn over
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41.
42,

43.

44,
45.
| 46.
47.
48.

49,

d0

aHQrdir eflenen eremred ereven? Gr®§5j§sasrrf_,® S(1HS.

What is opposing reaction ? Give an example.

WsD s ellepansE peam rHSGIGSTLHSET (s,

Give three examples for first order reaction.
safl ampwsdler WUflems Howamw, Wfms sasib Huaipaop GNIGGs.
safl &PWEHDG THSHESTL( S(Hs.

Give the dispersed phase and dispersion medium for a gel. Give example for gel.

Gameoyrey elldlenw aJea)ryu_lgj.
Define Kohlraush’s law.

lgrenev SiepLolin], Slev enolieny el Blevewiraisrs @QmESng. @'Gvr’?
Trans isomers are more stable than cis-isomers. ‘Why ?

Seormeden <oy safleCGeanpm eflemeremwis g,@a;

Give the oxidation reaction of phenol.

riflepenty < osanraissTar elsLT Gowli Gergeareamu 6r(pgis.

Write the Victor Meyer’s test for secondary alcohol.

BaUBSE elleareni er(ps)s.
Write Knoevenagal reaction.

LOTDHMI GTEVL_FTE @S 60 G‘reirrg)rr@ eranen? r(HSHEET-HS H(H.

* What is trans esterification ? Give example.

50.

51.

CH;N erengild gpedsam eumiiurGeni il (A) eremm a6, L6,

srieuolan el@ase ol Ul () (B) & g@;ﬂ"g}gj: Geirobd (B) LiAIH, <6

20850 AmL by (C) g sming. Comomsdr (A), (B) whmibd (C) & Saim_ls.
An alkylamine (A) molecular formula CH5N undergoes carbylamine reaction to give -
(B). When (B) is reduced with LiAlH, gives (C). Identlfy (A), (B) and (C).

LenFSS(HLILITET 6TEmDTe) 6TENen ? a@g’g,gjé;&m'_(& S(IHS.
What is antiseptic ? Give an example. ,



11 , 7 6233
u@s - 111 / PART - III

SOl @@JQ@JW@ el mBoHID GmmHSLILFLD @(r_r, eflenrésemar CSgrr.r_F)G]g,@g,gj
QoSS 63 eNeTTHs@EHESE eQenL_wie. " 7x5=35

Note : Answer any seven questions choosing at least two questions from each section.

ﬁhﬂm oI / SECTION - A

52. égbmﬁh_l_rraSlm QI QISENS G)S]GTTSS@&S
Explain the shape of p-orbitals.

53.  @ubfiGamr Geauliu @Hi&s WpeapamwLs UL eumyhs) eflaméi@s.

Explain Aluminothermic process with neat diagram.

54. GurGenmmensL. oewTelleOl(HbGl THBSME(H 6Teelm) ﬁlrﬂg,@g,@a;asuu@aﬂmgj?

Describe the extractlon of lanthanides from monazite sand.

55. spmEGLRe, Caudludad GGarrGrma el e uréi@ Wrg? g6
- Qeweur@semer GHLIEGGHS. 4

How is chlorophyll important in environmental chemistry ? Mention its functions,

ey -cog,/ SECTION -B

56. erem _CrmYulle aﬂ,rpul_cﬂumqa;smm g,@as
Give the characterlstlcs of entropy

- 57. K, LD!I)QJLD K, 56 @Gm_@uu_lrrm Qgrruremu 6).!@615]
Derlve the relation between K and K.

58. ereflw opmib Hsserar elamansensE Gl Cu 2 drar CaumLT@@6T wramai?

What are the differences between simple and complex reactions ?

B | I . [ Hpiys / Turn over




6233 ' 12

59. & Zn Wlemeums 0.01 M ZnSO, aaemv&eﬁleu 25°C & Gmeuasa;uu(a@murmrreu Oy
SfsE® e D(Psssnss samssl[H E0=0.763 V.

What is the potential of a half cell consisting of zinc electrode in 0.01 M ZnSO, solution
25°C; E9=0.763 V ?

Yifley - © / SECTION - C

60. Spsaan_ sranfls@pLen e Grg,;_ﬂsu T ereueurm ellenaryfllmg)?

(i) =i HyS0, - (@) Brss HS0, (i) HI
How does diethyl ether reacts with the following reagents ? '
(i) Con. H,SO, ‘ (i) dil. H,SO, (i) HI

61. FLregenanal Wb, Cueargrdigamanami b CaupuBdss.
Differentiate acetaldehyde from benzaldehyde.

- 62.  smedlflells ofleod LGrmblayi e Liflujib eflener auiflgpenmenwt edlaré@s.

Explain the reaction mechanism of bromine with salicylic acid.

63. 2. amredled CaudlLiQurmpLaer Lpdl SmEoHliy euemys. . . L

- Write short notes on chemicals in food.

L& -‘IV/ PART - IV

Golly : () Corgsbd :q,neh@,aﬁ]mné&@&@‘aﬁlmguaﬂ. | | - 4x10=40
(i) efewm erar 70 &@ SLLnwwns cHevLwallGsL o GCouam@Hid.
B perer allemrésafiey q@g,guw Qy)GOTQ_I aﬁ]scrrrasa;@as@ @S]em_u_laﬂ
Note : (i) Answer four queshons in all. '

(ii) - Question number 70 is, compulsory and answer any three from the re¢ remalrung
questions.

64. () Quallwurd@h Y noaeol LUHEGn srralamer alerss,.
(<) yeepflafen LUl L LT Smar leTéEs. o '
(@) Describe the factors influencing the ionisation energy.

(b) Explain the anamalous behaviour of fluorine.




65.

66,

67.

68.

13 A | 6233
(=) Spsseam_eupenp efeur :
@) el (id) é{memm GT &¥oT
(<) m@ggmg goopuied sHflwss pCarGLmiysafien uusirré;mmg S(HS.
(a) Explain the following : |
() Ligand (i) Coordination number

(b) Give the uses of radioactive isotopes in medicine.

(<=1) Qyrs ﬁlm@vwmmﬁﬂ pemenil afﬂcﬁa;@a;
(=) ellenenGeuss wTHDSSH 6 uvuqa;a;eurr&é] Q& TeTanseni aﬁ]eulﬂ

(a) Explain Bragg's spectrometer method.

(b) Write briefly about the adsorption theory of catalysis.

(<=1) @fled, b Hprsriy upfu GuUGamammi® CQararasamu efeufl.
(<) @i 86T BensasSen Gpiaravi. snedm el aimed. |

(a) Explain the quinonoid theory .of acid-base indicator.

.- (b)  Derive Nernst equation of a reversible cell reaction. .

(=) Lir_mfés &L&a)g,‘@m @Grﬂ a;lagrrr)é] Lorrm;f)lmg,mg, aﬁ]@_lrﬂ

(=) s68lafls Siflaib EPESETLCUDYIL 6T GTELGUMT) aﬂmmuu@éﬂmg?
@ NaOH () NH, (i) PClg

(@) Explain the opﬁc;l activity of Tartaric acid.

(b) How do succinic acid reacts with the following ?

@ NaOH @) NH, (i) PCly

[ Hpliys / Turn over




6233 _

69.

(<

14—

) Quenéern e wGaraflwib @Gerrrreo)rm_eﬁl@(r_r,gj ae;lc.pascml_ G&nmrsw;emm

ereveumm wimflimi?
() eplCrr Quendern
i) @GerrGrr CQuender,
(il) Gevared enaml e

(=) QuitenL_ () YenerTliL| 2 @ _THene FoemUTL(HLem eNeTsEs.

(a)

~(b)

70.

How do you prepare the following compounds from benzene diazonium

- chloride ?

(i) Nitrobenzene

. () Chlorobenzene

(iii) Phenyl hydrazine -
Show the formatlon of a peptide bond with an equatlon.

9) CH,O eren Q&SN aumitur@eoLw (A) eremm &fwéCsion CH,Mgl
2 D ¢ o ! D 3Mg

o Lan elewarfig (B) erénmp &flws Ceinsmss smens. @& o Cors
GergwsgLen eanl rmmear QeaielCupmb. Cerwbd (B) <L HySO,
weraflenaufler 410 K Qauiuflaneouiedr B Bsswenrpg C,H,O eremmm
gp@dsmn ambuurGorw (C) 85 sGADS. (A), (B) LHgd (C) B&
serL_Mbg elenarsamer cllaTs@s. ,

(<=t) ‘A erarm Gamwow wLWogSsD Tamb AowssLuGing. GUis

gsamavarL Bi$s H,S0, & sarsg ‘A” eowil) Qup (wpigujib 230°C Qeutiu
Heooss A g GOUGSsIDL Qurpg ‘B aam finwhn Cerwsass
BHADSI. ‘A’ 2F& 2jere] NH,OH 2 1_a efenenfipg ‘C’ erenn Sienenrayé
Gemognss smIngl. ‘A’ g,eng HyS o e eflenayf g1 ‘D’ eTem &H(HEnLo
Blp eSpLigemeus smEDS. ‘A%, ‘B, ‘'C, ‘D m‘mummgpmmas sar (Ol S5
elenangener aflers .

S|V

(&) (4) (CSHSO) ety @@ &flws  Gaiwb .@{GU_HTGI_H'UI'I'I:FLb

(%)

MovarsEGluBdng. Hhusressome wHMD i HCl 2 Ler (A)

@O&swaLbBgl (B) (CgHyp) 85 smInsg. (A) L.]CSl;rrrL&@n_arr mgiflé 273 K

Qeuliubleneoudled eSlenaryfbg) (C) (CgH,OBr) 836 g,@é;'l,rpgj (A) (B) opmid
©) g sam_ibg almasmer alarés.

Ba(OH), < ang auellano W@ Wearu@ef erafley 0.02 M Ba(OH), Bflw
senysadlen pH g samssl(@).



(b)

©

(d)

15

An organic compound (A) molecular formula CH,O reacts with CH;Mgl to give
compound (B). Compound (B) liberates Hydrogen with metallic sodium.
Compound (B) in the presence of Con. H,50O, at 410 K on dehydration to give
compound (C) molecular formula C4H100 Idenhfy (A), (B) and (C). Explain the
above reactions.

Compound (A) also known as blue vitriol can be prepared by dissolving Cupric
oxide in dil. H,SO,. A on heating to 230°C gives compound B which is colourless.

- A reacts with excess of NH,OH and gives C which is a complex salt. A also reacts

with H,S-and gives compound D, a precipitate which is black in colour. Find out
A, B, Cand D. Explain the reactions.

OR

An organic compound ‘A’ ‘(C8H80) undergoes iodoform test. When reduced
with Zinc amalgam and HCI it gives B (CgH;;). A with Br, in Ether at 273 K
gives ‘C’ (CgH,OBr). Identify A, B and C. Explain the reactions.

6233

Calculate the pH of 0.02 M Ba(OH), aqueous solution assummg Ba(OH)2 asa

strong electrolyte.
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